= (2000) AFBIJHEEH] 2+ (2300) AF3I 2 & H 5t (2310) M= KBt (2311) 2 X & 222 HIAIEE: (120) 2 A S 2 Y] SR
ok = 7S I R == ] m}
oI & = &k = J| x
Xt BB MIE HIMIE = of & ¥ = A 2
2000 [2 217,827,961 & 72,924,022 X 0 = 0]
AFE] K 2 294,021,906| 259,248,924 34,772,982 [J] 2,100,000 £ 1,169,923 1 0 ]
2300 [2 217,827,961 & 72,924,022 X 0 = 0]
A3 2 &HH 294,021,906|  259,248,924| 34,772,982 [J1 2,100,000 = 1,169,923 1 0 ]
2310 [2 217,827,961 & 72,924,022 X 0 = 0]
M E ST 204,021,908| 259,248,924 34,772,982 [J] 2,100,000 £ 1,169,923 1 0 ]
2311 [2 217,827,961 & 72,924,022 X 0 = 0]
S & M2 294,021,906|  259,248,924| 34,772,982 [J1 2,100,000 = 1,169,923 1 0 ]
100
2 AHOH| AF 163,850 216,460 AB52,610
120
A A A 163,850 216,460 AB52,610
201
our2 oy 38,910 42,220 A3,310
38,910 42,220 A3,310/01 Lt
oA Y| = 10,000
o2yt = 11,360
o3| = 17,550
202
o1l 48,600 53,200 A4,600
48,600 53,200 A4,600/01 2LH04H
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Z}:(2000) AHBIJHEHI  2H: (2300) AbEI 2 B U 5} (2310) 42 =X M (2311) =Xz 2el MIAIE: (120) 2 4 = Z b ERENELE=E
L = S == S i}
of &b o A = pJ =
.8 NE . MAE = Of & % = oA
CAEOISREZ2NSEI} L 2HOIRI0 AHEA(EY)
1,100
ImE=ge] 15,0008 x 44% = 660
AlCH 5,00090 x 44 x 2Al = 440
2,500 18,000 A15,500 |12 DIEt2 A2
oH0HQl EXAL ST}
50,0008 x 52 x 23| x 5% = 2,500
200 [=2 217,827,961 & 72,760,172 X 02 0]
AR 0] &t 293,858,056 259,032,464,  34,825,592| [JI 2,100,000 = 1,169,923 0 ]
210 [2 217,827,961 & 33,976,592 X 0 0]
EEANY 253,904,553 219,537,648 34,366,905| [JI 2,100,000 = 0 m 0 ]
307
BI2t0| & 949,326 194,780 754,546
830,116 194,780 635,336/02 QI2tH A2 X
owolURt MR 14,100
7,050
7,050
oL OIS HHYHE 29 98,438
49,219
49,219
S AILIOI2 & (CSC) At N 30,000




XH:(2000) AP JHEEHI  2+:(2300) Akl 2 & 5t:(2310) M EH =X Mg (2311) =X Hae] RIMIE: (210) B XA EEMEEERCE]
& = & 49 =4 m
o oo S & 2 ] =S
X B NIE MAIE = o A % | = oA 2 - -
(2) 15,000
(%) 15,000
S EONOIMALE THIHAIE 2H(1HA) = 96,578
(=) 38,632
(%) 57,946
OLQIHUSSMESIXR ALY 591,000
(2) 413,700
() 177,300
LoAARE SR ¢
1,500,0002 x 16JHAIZ x 29 x 110 = 528,000
(2) 369,600
() 158,400
SLoAARE XS K GHI(AIXS)
100,0002 x 7IHAl x 2% x 11JHE = 15,400
(2) 10,780
(%) 4,620
SLoAARE XNEK HHI(2XS)
200,0009 x 9= x 2% x 11IHE = 39,600
(2) 27,720
(%) 11,880
LOoMERE HASSEE I
500,0002 x 1Z=2 x 16IHAI2 = 8,000
(=) 5,600
(%) 2,400




X:(2000) AFSIJHEHI  2+:(2300) AbSl B & 5t:(2310) M EH =X Mg (2311) =X Hae] HIAIE: (210) 2 & AL 2] [oe @]
i = bS] ] c m
— of Ao N Hl - A = ol %
X 28 HE MM = o & | = oA - = -
119,210 0 119,210|04 QI+ AIE Q| E

ol-oldURtg| Brets Izl = 119,210
(2) 59,605
(%) 59,605

308

XX ESH S 220,836,145 210,717,213 10,118,932
ol
220,836,145 210,717,213 10,118,932(01 KX HHMBIAEE2

SABEXMBA AlY 2H = 180,000
(2) 180,000
oXONSE 9,753,360
(2) 6,827,352
() 2,926,008
EZAHLE 60,0002 x 10,720Y x 12% 7,718,400
(=) 5,402,880
(%) 2,315,520
A=< 20,0002 x 8,479% x 12% 2,034,960
(2) 1,424,472
() 610,488
o ZOHQ! o2 HIXIH(10,3359) 911,741
(=) 729,393
(%) 182,348




Z:(2000) AFBIJHEEHI  2:(2300) bS] & EHHI 8t (2310) M E =X Mg (2311) S XIF M 22 HIAIE: (210) 8 R AL EENESER-ED
2
_ﬂ*_ _ = o oa o | &2 = i} N = ) _
o B HIE M = o A % = oA 2 N
oIS 2L 50,0009 x 324% x 128 = 194,400
(2) 136,080
(%) 58,320
o ZOHQIAE WK HI(203Y) 230,343,700 x 80% = 184,275
(2) 147,420
(%) 36,855
o ZOHQ! THEFE ERD|7(948Y)
154,992,500 x 80% = 123,994
(2) 99,195
(%) 24,799
ool SEA 19,860,0002 x 50% = 9,930
(2) 9,930
CEZSHMNC KNSMSHE AYA
150,000,000 x 64% = 96,000
(2) 60,000
(%) 36,000
o MAl, FHS04(92,000%)
166,320,818,0002 x 90% = 149,688,736
(2) 133,056, 654
(%) 16,632,082
o204 (9,500%) 6,321,666,000& x 90% = 5,689,500
(2) 5,057,334
(%) 632, 166
oXIE22 AR (2,2419) 18,058,799,000& x 90% = 16,252,920




X:(2000) AFSIJHEHI  2+:(2300) AbSl B & 5t:(2310) M EH =X Mg (2311) =X Hae] HIAIE: (210) 2 & AL EEMEEERCE]
n; = P IR m
— of & o | T Hl - A = ol %
X 28 HE MM = o & | = oA - = -
(2) 14,447,040
() 1,805,880
olfE L AT 2 O (1HA)

62,500,0002 x 90% = 56,250
(2) 50,000
() 6,250

oXESAHIZ 2 (1501A)
2,600,000,0002 x85% = 2,210,000
(2) 1,820,000
() 390,000
o22ASZNM(3,085H) 4,549,894,0002 x 90% = 3,685,414
(=) 3,275,924
(%) 409,490

o BUNZTIAIE 2L (10HA)
510,636,000 x 100% = 510,636
(=) 357,445
(%) 153,191
o JIAF 2HE &S 20/ A (390Y) = 2,100,000
(71 2,100,000
o2 AH3(59,8484) = 23,313,157
(=) 19,233,023
() 4,080, 134
oL QIARIZIALY = 3,875,300
(=) 2,981,000




Z:(2000) AbBIOHEEHI 24 (2300) bS] 2 A 8t:(2310) M &= X M8t (2311) = X & =4 2He) HIKIBt: (210) 8 E ALY EENEGR-E
2
t = w&%@egm Il N = ) .
.2 E NS AAE =2 o & % = A 2
(=) 894,300
oc)EEEH Ol=sES
18,565,000% x 404 x 60% = 44,557
(2) 29,705
(=) 14,852
cQANS YFEXS
870,0002 x 69 x 12& x 85% = 53,244
(2) 43,848
(=) 9,39
oMAS 2EXIIE X 733,923,00094 x 90% = 660,531
(2) 587,139
(%) 73,392
o F QI A AL 2RI ALY 117,600,000 x 75% = 88,200
(2) 58,800
(=) 29,400
oXUOISHEH(ZRY)2Y
24,000,000% x 51IHA x 75% = 918,000
(2) 612,000
(=) 306,000
oMASEEN 532U
12,000,0002 x 15004 x 75% = 135,000
(2) 90,000
(%) 45,000
COIHAEOISAHEEZ KR (AR)




X:(2000) AFSIJHEHI  2+:(2300) AbSl B & 5t:(2310) M EH =X MIE: (2311) S XI & 22 MIAIEE: (210) 2 ALY J[ere &)
ok = 7S I R == ] m}
oI & = At = J| =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
100,000 x 5109 x 100% = 51,000
(=) 51,000
CHUINMXANEH 2H
100,000,000 x 19H2A x 50% = 50,000
(2) 50,000
402
0I2HXH=0] 100,000 0 100,000
bS]
100,000 0 100,000(01 QI2t =28 =
O ZHOHQl AHAE THOHAIAE Xt
100,000,000 x 14l = 100,000
(2) 30,000
(%) 70,000
403
XSS 32,019,082 8,625,655 23,393,427
ol d
32,019,082 8,625,655 23,393,427 |01 RMXISHMA=2EE
SXOHOIMEAIA DI SE2(150A) = 943,808
(2) 471,904
() 471,904
OXOHQIRATHEAIA DS (7H) = 1,028,556




X (2000) ARSI JHEH]  2H:(2300) Ab3| 2 & 5t:(2310) M EH =X Mg (2311) =X Hae] HIAIE: (210) 2 & AL EEMEEERCE]
ni; = b S I I e m
— of Ao N Hl - A = ol %
X 28 HE MM = o & | = oA - = -
(2) 514,278
() 514,278
O BYUOIAIA JIsE22H = 76,977
(=) 51,318
(%) 25,659
oLoEXAMIsE 5,037,338
(2) 3,358,225
() 1,679,113
CERQUAA AE(2)HA)
2,976,000,0009 x 75% = 2,232,000
(2) 1,488,000
() 744,000
CAHIQUAIA AE(10HA)
720,000,000 x 75% = 540,000
(2) 360,000
() 180,000
CAHIQUAE ES=(10HL)
1,418,000,0002 x 75% = 1,063,500
(2) 709,000
() 354,500
MR UAM E=(1HA)
720,000,000 x 75% = 540,000
(=) 360,000
() 180,000
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Z:(2000) AbBIOHEEHI 24 (2300) bS] 2 A 8t:(2310) M &= X M8t (2311) = X & =4 2He) HIKIBt: (210) 8 E ALY EENEGR-E
t = 7SI E I = I = Il
of Ab o A = o] =
.2 E NS AAE =2 of  Ab oM = A

P2 QAUANE SE(1HA)
196,200,000 x 75% = 147,150
(2) 98,100
(%) 49,050
QUAIE MEL(1HA) 15,250,000& x 75% = 11,438
(2) 7.625
(=) 3,813

- o2 FH JIs22(4MAa)
671,000,000 x 75% = 503,250
(2) 335,500
(%) 167,750
o XU H I AL 22,864,280
(2) 21,450,000
(%) 1,414,280

-SSR MHEHIAFG (4002 )
1,200,000,0002 x 44! = 4,800,000
(2) 4,000,000
(%) 800,000
HOIEQRAX AL (1IHA)

14,200,000,000& x 14! = 14,200,000
(2) 14,000,000
(%) 200,000

S ObAH EH3Y AX(1HA)
1,428,570,0002 x 85% = 1,214,280
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Z:(2000) AbBIOHEEHI 24 (2300) bS] 2 A 8t:(2310) M &= X M8t (2311) = X & =4 2He) HIKIBt: (210) 8 E ALY EENEGR-E
t = w&%@egm Il N = ) .
.2 E NS AAE =2 o & % = A 2
(2) 1,000,000
(%) 214,280
- OIMBS IR EHUIARY (1012)
2,650,000,0008 x 14! = 2,650,000
(2) 2,450,000
(%) 200,000
COISEXAL JIsE2 MY
1,257,797,0002& x 75% = 943,348
(2) 628,898
(%) 314,450
CRNESAE JISEBLAY 95,700,000& x 75% = 71,775
(2) 47,850
(%) 23,925
o ZOHQl e JHE 4 AFY (3510t7)
1,404,000,0002 x 75% = 1,053,000
(2) 702,000
(=) 351,000
220 [= 0 & 38,783,580 X 0 2 0]
KERIAF 39,953,503 39,494,816 458,687| [J 0 2 1,169,923 1 0 ]
301
STECTN PN = 60,000 50,000 10,000
60,000 50,000 10,000|01 AtBIE &= 252
oZINRBN ¥ FER 30,000,000& x 14l = 30,000

_12_



X:(2000) AFSIJHEHI  2+:(2300) AbSl B & 5t:(2310) M EH =X Mg (2311) =X Hae] HIAIE : (220) RERI A SRR
i = = E] o m
— of &b - . - & = J| =
X 28 HE MM = o & | = oA - = -

o AZEXALE 22 15,000,000 x 24! = 30,000

306
012 300,000 0 300,000 o MSAH- DS ARA 2H = 300,000

307

0I2H0| A 3,748,349 3,688,012 60,337
1,258,572 1,449,413 A190,841/02 DIZIAAE X

oAZE2XEAE 23 = 104,000
OAZEXNEECHHME 29 (X20lY) = 47,250
(%) 33,075
(2) 14,175
oZOfQI 2X& & WS (X E0lY) = 25,000
(%) 15,000
(2) 10,000
oINS E 2Y oF) = 63,752
(%) 39,845
(2) 23,907
COZTHEAL 2Y oF) = 191, 100
() 119,438
(2) 71,662
O EONOl THENAIA SAMK MM (32H) 49,680
3E0|et 22Xt 90,0002 x 5% x 128 = 5,400
3~5d 227X 120,0009 x 129 x 128 = 17,280
-5E0|A 22t 150,0002 x 159 x 12”0 = 27,000
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Z:(2000) AFEIJHEEHI  2+:(2300) AbSl 2 &t 8:(2310) M &= Mg (2311) SR Z 2L HIAIEE : (220) RERI AL (2] dA]
i = = E] o m
— of Ao N Hl - A = ol %
X 28 HE MM = o & | = oA - = -
oLFIEAUME 2 (XIEH0IY) = 75,600
(%) 52,920
(2) 22,680
OAIARONO AMSEHME 2 (X0|2) = 121,548
(%) 85,084
(2) 36,464
OHOIAlA AXIAQERC 2% (X20]2) = 50,892
() 25,446
(2) 25,446
SXHMEONQ BOIAILKAME S (X 0|2) = 78,750
(%) 55,125
(2) 23,625
o DIZFANS| 2 X AFY X2 (POOL) = 323,000
oMIEINIESH L MM 235} = 38,000
O QIMSIAIEY 2 OJAIXA} G171 F IOy
90,000,000 x 14l = 90,000
396,600 363,000 33,600/04 DIZHEHAIE X E

oAMSIEX L BEzed CHHl - I S AHHEI(POOL)

= 396,600
2,093,177 1,875,599 217,578|05 012t Et=2

ORfOIE X2 2HE(20HA, XIL0|) = 1,466,522
() 879,913
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X1 (2000) AbSI R H] B (2300) Aba) 2 A t:(2310) M EH= X NIt (2311) =X & = 2tg) HIKIBt: (220) REHIAFS EENER R
i, = 7SI = R = R Im]
Of &F ©h &t = 7l =
I 2 8 NEAAE 2 of A o = A 2
-5H014 22X 150,000 x 42 x 12" = 75,600
308
MXSHE 15,051,386 15,986,603 A935,217
ol &
15,051,386 15,986,603 A935,217 |01 RIXISHBAEE2
oM MEAIE 2Y (1704, XL0lY)
10,347,356,00094 x 15% 1,552,104
OO EATHEAIA 2 (9IHA, XIE0|)
680,000,000 x 15% 102,000
CHAXNOIS LTOI2 SSH|(KIL0IY)
10,000,0002 x 10¥ x 70% 70,000
o Al 2 Z0H QI TH & AL HI
30,000,0002 x 16AI2 x 30% 144,000
CANZLEHSHME 2
50,000,0002 x 7HA x 30% 105,000
SAIZHNQMREHE 29
55,000,0002 x 13JHA x 30% 214,500
SV B ESSUTIES
35,0002 x 1,500MICH x 122 x 30% 189,000
o XA 2R
3,000& x 2,700AICH x 128 x 30% 29,160
S XOHQIDIAIE R0l =X
300,000 x 2502 x 122 x 30% 270,000
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It (2000) AFBI ORI 2H:(2300) Ab3| & & H| 8t (2310) M E =X HIBt: (2311) = X & 2 pre| HI I : (220) RERIAHES EENEGR-E
t = 7SI E I = I = Il
of Ab o A = Il =
.2 E NS AAE =2 o & ¥ = A 2
oS It
12,0002 x 10,720 x 128 x 30% = 463,104
BB ILY
35,0002 x 3,0000t7 x 128 x 30% = 378,000
CEZHMWAULESI £
20,0008 x 650 x 122 x 30% = 46,800
S HOHQI R ATHEAIEBALXF AR & H 14,796
- 3~54 120,0009 x 3% x 128 x 30% = 1,296
- 50| & 150,0009 x 25 x 12® x 30% = 13,500
o X2 ALAFZ (1998, XI2H0]2F)
16,560,0002 x 10% = 1,656
oL=Xal 2F(X0lY) 15,951,0008 x 14l = 15,951
S ANAEZEAX HRMAHI(ZOH581,0tS, @ Xt211, = 01367, £20121)
417,984
30| o 100,0002 x 1169 x 128 x 20% = 27,840
- 3~54 130,000 x 256 x 128 x 20% = 79,872
5 0] At 160,0002 x 808% x 12& x 20% = 310,272
CcHRYSYH|(XIE0I) 6,161,000,0008 x 25% = 1,540,250
oY ASIAIY (XI0lY)
20,000,0002 x 4HA x 25% = 20,000
cHR2AY LEIAL2Y(XY0lY)
930,240,000 x 25% = 232,560
O ASTHIF QI AIAFHH S (X120l L)
888,840,000 x 25% = 222,210
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ZH: (2000) AtBIOHERH]  2H:(2300) ALSl 2 EHI & (2310)HE =T Mg (2311) S XE 22| NIAIES: (220) KR ALY (=3[ dE]

o = S R im)
of Ab o A = Il =
.2 E NS AAE =2 o & o = A 2

o QIAZRICH( X0l ) 33,622,0002 x 15% = 5,044
ST QIE XA 22 (X120lY)

1,053,120,0002 x 30% = 315,936
oL QIZ2XAIE 2 (X0lY) = 909, 141
oL Q=X 5 2N (X0l

849,960,000 x 20% = 169,992
oLolnEsy = 4,350,000
OMASSHLIIR FEH X

30,0002 x 12,2700t7 x 3 x 30% = 331,290
OMASLEOAN HEEA

1,000,000 x 2002t x 30% = 60,000
COISEXAIE2S (XI20l)

4,626,885,0002 x 15% = 694,033
CZEMI|Z2H(XY0lY) = 42,636
oo )|2 29 (XI0lY) = 3,584
COISESARI |2 2 (X0lY) = 57,921
CIIHAEXNRME 2SS (XL0lY) = 21,080
o AEAEIIEXIR (XE0lY) = 13,692
SN ELASH KA (XEH0]2F) = 33,432
CElAOISTEHESNIS (XIL02F)

70,000,0008 x 25% = 17,500
o OIS 3AIHI X2 (X120l) 843,011,000&! x 25% = 210,753
CcRN=EXAIE SS(3MA) (XZO0I)

398,913,000 x 15% = 59,837
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ZH: (2000) AtBIOHERH]  2H:(2300) ALSl 2 EHI & (2310)HE =T Mg (2311) S XE 22| NIAIES: (220) KR ALY (=3[ dE]

t = "SI E == ] Il
ol &b oM Ab = ol =
.2 g Mg MM = ;| IA = A 2
CRNEXAILE EAaX NHEIHEZ XA (XY0|Y)
34,000,0008 x 25% = 8,500
oAd=Role 0IEFE s S2UAE 2 (XL0|Y)
80,000,0008 x 25% = 20,000
o X843l 020l SHAt = 30,000
c0lg20ts S8 202,218
- EHDANTUY 80,0002 x 650 x 30% = 15,600
2 SHof el 100,000 x 800% x 30% = 24,000
stz 200,0009 x 650 x 30% = 39,000
Sigmi=eNEL 1,0008 x 800% x 2002 x 30% = 48,000
AEAEIIE H4H
100,0002 x 200AICH x 23| x 30% = 12,000
- MRS E S|
43,0002 x 340 x 12€ x 30% = 52,632
CAEOtE BAMNEH (2RSS FIHH])
18,310,0002 x 23 x 30% = 10,986
oS EAOS XtEHl =X
2,000,000 x 66 x 30% = 39,600
ollSEX2E A E4224Y
100,000 x 14 x 128 x 30% = 5,040
OMNASIEXINE It X 180,756
-2 s 126,0002 x 1,440AICH x 30% = 54,432
AEsrEEMH(50M)
20,0002 x 824 x 23| x 30% = 9,888

_19_




ZH: (2000) AtBIOHERH]  2H:(2300) ALSl 2 EHI & (2310)HE =T Mg (2311) S XE 22| NIAIES: (220) KR ALY (=3[ dE]

o = S R im)
Of & A Ab = ol =
&2 S NS AAE = Ol &b M E VAN
A= SEOHE
200,000& x 8249 x 30% = 49,440
- EIDMFSH(ZDM)
80,000& x 824K x 30% = 19,776
=SH(d & | 100,000& x 1,574 x 30% = 47,220
cZ2IIRFE Jl=suw= 54,000
=42 & M=H|
400,000& x 75% x 3& x 30% = 27,000
M 2 2| 400,000& x 759 x 3& x 30% = 27,000
cBNESAENE BX &&Hl XA
320,000& x 81H x 30% = 7,776
oL AAERI|IFA 2
2,300,000& x 210CH x 25% = 120,750
ocMAasSko BEFI XA
600,000& x 120 x 50% = 36,000
ogtstE Ots =248l XI&
2,726,000,000& x 30% = 817,800
oAlE0ls AMelXE & XI#
153,333,000& x 30% = 46,000
o= MZEJHE =8 JtE JHRI|l At
120,000, 000& x 50% = 60,000
o= MZEINE Rt ESAtY
156,000, 000& x 50% = 78,000
o=ZMIBENE N4 sz XN
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X:(2000) AFSIJHEHI  2+:(2300) AbSl B & 5t:(2310) M EH =X Mg (2311) =X Hae] HIAIEE: (220) Kb ALES 2] [oe @]
L = S == S i}
O]l At o N = J| =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
40,000,0002 x 50% = 20,000
402
0I2HXH=0] 1,029,668 212,333 817,335
bS]
1,029,668 212,333 817,33501 DIt =28 =
oHEHH JsEd = 20,000
SR ISEAAY (XE0lY) = 384,668
(%) 269,267
(2) 115,401
M ERoE M3 TR F2AHY
300,000,0002 x 14! = 300,000
oZ=C AAI JEE HE = 100,000
ot OlYAAM JEH HE = 225,000
403
AXISH S 1,464,100 2,824,100  A1,360,000
X0l A
1,464,100 2,824,100 A1,360,000|01 XXM AHEE =
O AZIEXZ JISELAY (XL )
186,000,000 x 35% = 65, 100
OMIICQIEXAIE JsSE2(XE0]2)
20,000,000 x 25% = 5,000
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Z}:(2000) AHBIJHEHI  2H: (2300) AbEI 2 B U 5} (2310) 42 =X M (2311) =Xz 2el NIAI: (220) RERIAFES EENELRE)
L = S == S i}
of &b o A = pJ =
.8 NE . MAE = Of & % = oA
oZ0i)|2 PCRY (XIL0IL)
1,500,0002 x 4CH x 25% = 1,500
oARZ FHojol =HAF LX
60,000,000 x 4IH2 x 50% = 120,000
oX0iel EXAL JIsEY 30,000,0008 x 50% = 15,000
o4SSAMEl XPY(HO)
15,000,0002 x 1CH x 50% = 7,500
SO KEME A
400,000,0008 x 5IHA x 25% = 500,000
olLQIEEER 2 SE(HO) = 250,000
SLRIEIAL HYAL B (M =22, A2)
400,000,0002 x 50% = 200,000
olol=Xs2 HY (A 300,000,0008! x 50% = 150,000
oX0Iel HE3EE NKIPC PY XA (SF) = 15,000
XML S ZSHYF AL (MH) = 60,000
cHEOH JISELAL(MA)
150,000,0008 x 50% = 75,000
701
JIEHEI A & 18,100,000 14,992,226 3,107,774 o222 50|12 S¥3H &3
==
181,000,000,0008 x 10% = 18,100,000
702
) T == ) faYaValllaVaVal 4 74 4 CAD 4 44 CAD Tllill?iji; — 200 OOO
A& & 294,021,906|  259,248,924| 34,772,982
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